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Part—1/97T-1

Marks — 30 / 3 — 30
M WAMASA 159FE | ft v AFar R | v w3 R 02 a3t Puifa $ |

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

gfe FINANCE = 39, MARKETING = 52, @ PRODUCTION = ?
If FINANCE = 39, MARKETING = 52, then PRODUCTION = ?

&1 0.01, w@a 0.1 ) fraft wfwa 2 7

The number 0.01, is what percent of number 0.1 ?
AR 9x + 2 > 7x — 2, &Y x T WIS HEAT 2, o & 1 9= A B, A A 7ia Hifd |

If A is the solution set of 9x + 2 > 7x — 2, where x is a natural number, then find A.
e Tk Py o S % B (3,2) ofi 2 ofist & frdwies (1,1) 3tk (2,5) &, @
e st % faderes stra Hifv |

If the co-ordinates of the centroid of a triangle are (3, 2) and co-ordinates of the
two vertices are (1, 1) and (2, 5), then find the co-ordinates of the third vertex.

i e e wiereh & o e & 2 e 3 R | 7 e T v 9 8 @ o e e
2 | IO H N HEAT 36 G Are S 1 3 o R | | T e d 7

: S . g o :
Anita thinks of a number and subtracts 5 from it. She multiplies this result by 8.

The resulting number so obtained is 3 times of the original thought number. What
is the number thought by her ?

< G 1 AT 40 T ITH =R 4 B | Q1 GEA13H1 T 9T A AT |

Sum of two numbers is 40 and their difference is 4. Find the ratio of the two
numbers.

uh T o Fer 350 Frenfefat o1 2 ergfevat & e < wrefat firbe Qe §, Rt
wrsfrat fthe T Qe & 7

3
7 of the total of 350 students of a school are girls and %of the girls play cricket.

How many girls do not play cricket ?

i & SoTel R | 71 3 T A 3 ve IR i miimd R R 2

Three coins are tossed. What is the probability of getting neither 3 heads nor 3 tails ?
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TS shl gt T Teh anmngwﬁfmw%4ﬂtﬁwaﬁa§2ﬂrﬁ%ﬁﬁﬁ
JETH HYE I HIT T R | A ST T R 7l HIAT |

A rectangular sheet of card-board has length and breadth as 4 ¢cm and 2 cm

respef:tively. The largest possible circle is cut from this sheet. Find the area of the
remaining portion of the sheet.

A Aricsless o &9 7 ‘e’ i ST §HEY | (3o i ; 20 w5g)
Explain ‘Intuition’ as source of Ethical guide.
[Answer Limit : 20 words]

2 Rufers’ & i o & 7 39 g ) gor favg-aeg #n @ 7 (ST di : 20 g
Who is the author of ‘The Republic’ 2 What is the main subject matter of the book ?
[Answer Limit : 20 words]

1 AT I FET ‘Fhﬁi%a QU T R ?sﬁquﬁ@imaﬁww% ?

[IaT €T ; 20 ¥1g)
Does information sharing serve the public interest ? Why is it an important feature
of democracy ? [Answer Limit : 20 words]

WETEAR GhRIHS T - SAET % ol Ie9dl bl 8 31Ted Hial & ?[ITHA : 20 W]

How does corruption hamper the basic aims of positive governance ?
[Answer Limit : 20 words]

eh-qa1 | FTIR ST o el GaeAT shi F1 HTGTIHhal 8 ? [STR HiHT : 20 91sg]

Why is the need of compassion towards weaker section in civil services ?
[Answer Limit : 20 words]

foafier-seilar &/ 319 o1 wHed & 7 TRINS seilan’ % 9@ F 18 ?

[T HHT : 20 ¥1sg]
What do you understand by ‘Whistle-blower’ ? What are the main functions of
‘Whistle-blower’ ? [Answer Limit : 20 words]

Part—-2 /90T -2

Marks — 50 / 3@ — 50
Me: WA HFA 10 79 ¥ | ©ft w7 fard } | w@s w S e 05 3w
fuifa ® |

Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

SR YAl A AT RN A & 7 SHR A b @E € 7 [IAHT : 50 7]
What do you understand by Higher values ? What is the nature of higher values ?
[Answer Limit : 50 words]

g (aifaf) T d 7 R TR R e BT [secE : 50 9]

What is ‘Attitude’ ? Explain changes in Attitude. [Answer Limit : 50 words]
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e & fe fem s s T AEEw R 7 - [3T AT : 50 915
What is importance of rules and regulations for good governance ?

[Answer Limit : 50 words]
iefst <t gemrE At STTURn TE T | 791 A9 Fied 2 6 TS I 38 S
Tafifees fifa-ee & @ W AT, wife 79 Yia IS wHsE # arhd 9
ThUA 6t feafa s adi on ? [T T : 50 9]
Explain Gandhi’s concept of Satyagraha. Do you think that Gandhi adopted it only

as a political strategy since India was not in a position to fight the mighty British
Empire ? [Answer Limit : 50 words]

&A1 3, 6, 24 3TN 48 T TUIR AT ATd HIFAT |

Calculate geometric mean of the numbers 3, 6, 24 and 48.

T fora & # el o el oo & wewl 1 I 7:3 91 | e g W
Bigat 18 v faush oot § aftifera €9 w o oum 3:2 81w | 36 faym an &
HEE <! el T AT hIfIT |

In a legislative assembly, the ratio of the members of the ruling party. to the
members of the opposition party was 7 : 3. Eighteen members of the ruling party

left their party and joined the opposition party making this ratio to 3 : 2. Find the
total number of members in the assembly.

4 lsoooﬁmmaﬁ%mmmmmmwwz 96 &
T h Fiffes g 1 i |

The difference between compound interest and simple interest on an amount of
T 15,000 for 2 years is ¥ 96. Find the rate of interest per annum.

593 -312+2 g :
243 75mnﬁa+b\/§%mﬁmﬁﬁq,mmaabq&hwﬁ
g1
53 — 312 + 2[75 .

Find the value of — 54 \l_ in the form of a + b'\ﬁ where a and b are

rational numbers.

wh i s 30 fft, 20 foft/ e it e &, st 30 et 25 fopedt/ e it =T
& aur 3Rl 30 feft, 30 fEft/ger A e @ @ Fht R | IR H aitEa =@
Freprfera |

Calculate the average speed of a car running at the rate of 20 km/hour during the

first 30 kms, at 25 km/hour during the next 30 kms and at 30 km/hour during the
last 30 kms.

e gt hi fore it gd ) evard 14 TR R |m§§msﬁ=ﬁ:ﬁmﬁwwm
Femiferg |

The length of the minute hand of a clock is 14 cms. Find the area covered by it in
5 minutes.
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Part—3 /%W -3
Marks — 40 / 3% — 40
M. wwumd e 07 v Eaw 2 @us R | WUs-1 % 04 Wi # A fREf 03 vl
@ @Us-2 % 3 v & @ el 02 wEl ® I e s sife 2 | R
¥ & o1 08 3t Puifa & 1

Note : There are 07 questions in this part in 02 sections. It is compulsory to
answer any three questions out of four selected from Section-1 and any
two questions out of three selected from Section -2. Each question carries
08 marks.

Section-1 / @vE-1
General Aptitude / ¥ afvrsf

60 faenffai % ww wyg & 25 Rranff Brke, 30 faemeff Feaie 3 24 foemeff &
Qe ¥ s 10 faramff frde ok peater g1, 9 Rreneff Brdve otk &h 3,
12 forameff g7t 3R pewier Qi aun 5 Rrameff 1 @t @« 9= & | 37 sRE F1 3=
w0 ¢ 71 Hifrg s fraa frarfi Fee & d dw dea & |

Out of a group of 60 students, 25 students play cricket, 30 students play football
and 24 students play Hockey while 10 students play cricket and football, 9 students
play cricket and hockey, 12 students play hockey and football and 5 students play

all the three games. Using Venn-diagram, find the number of students who play
only one game.

Th SAfth 39 O T 12.5% @Y a1 } 7o A9 & 60% H 27 W I R | A v
Toremn wrT 3re u% are @ R, AR 9 9= g U B aw 8% "ruwwr sy ) aiis o
B de i 2 9 F forg o 1 A R A 3@ 2 9 W T 2030 P € | ==1fE ¥ T WO
d e franaa o 7 | |

A person loses 12.5% of his money and spends 60% of the remaining money. The
part of his total money, now left with him, if he deposits this left over money in a

bank for 2 years at 8% annual simple rate of interest, he gets ¥ 2,030 after 2 years.
What was the total initial money with the person ?

T A I T R 5 Hew FH w A IR N Iueht e 3 e W@t § IR @
ST SAEE 9 ST H9 B FaT & 3N 3R Iuh! w3 Hiet we1 & 9 uE AT
ot 2 et 7T & ST A IGHT VA 67 T TG AT § | I h TS T ST
T <hife |

The area of a rectangle gets reduced by 9 sq. metre, if its length is reduced by 5
metres and breadth is increased by 3 metres and if its length is increased by 3
metres and breadth is increased by 2 metres, its area increases by 67 sq. metre.
Find the length and breadth of the rectangle.
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Frafaftga srtewet & mftyen sma $ifdr :

o I AT
0-10 15
10-20 18
20 - 30 20
30 — 40 14
40 - 50 25
50 — 60 40

Find the median from the following data :
Class Interval Frequency

0-10 15
10-20 18
20-30 20
30-40 14
40 - 50 25
50 -60 40
Section-2 / @UE-2
Ethics / =RIH
R AT % e # Hgf qar st & AeH 1 Ieord iy |
: [3THHT : 125 Y]
Point out main contributions of Maharshi Dayanand Saraswati in the upliftment of
Indian society. [Answer Limit : 125 words]
WETER & T & I 1 Ieerd hHifg | [T HT : 125 9Isg)
Point out the measures to minimize corruption. [Answer Limit : 125 words]
a1k e 3 Aferes gt 6t =zmEm A | [STR & ; 125 vsg)
Explain the moral values of social life. : [Answer Limit : 125 words]
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Part —4 /9 — 4
Marks — 80 / 37% — 80
Me: 3@ HTH FHo 07 9 & a1 2 @S B | @US -1 % 04 WA § | foredi 03 weAl
ug @ue-2 % 3 wwl & @ fedl 02 weAl 1 I fean s orfErd R | vl
we o fore 16 37 Fuif@ 2 |
Note : There are 07 questions in this part in 2 sections. It is compulsory to
answer any three questions out of four selected from Section-1 and any
two questions out of three selected from Section-2. Each question carries
16 marks.
Section-1 /@S —1
General Aptitude / §HTH il

T AT & e Y Ipia, guTR Ao Rrad Qe Rl wo e &, St R | ot
Foger <l wrad 14 faft. vd o s frfi. @ | 59 S #1 maa @ g8 &k i

HRT | Foger W S @ vered wen #1 @ afg T 5 wfa 100 frfi? &, @ @ 500
Foget S # fhaar @ I 7

A medicine capsule is in the shape of a cylinder with two hemispheres stuch to
each of its end. The length of the entire capsule is 14 mm and the diameter is
5 mm. Find its volume and surface area. If the cost of covering capsule with sweat

edible coating is Z 5 per 100 mm? then what will be the total cost of manufacturing
of 500 such capsules.

T GHMGH, il i Th & Hie W g forehed T R |

(i) WA T 5,500 T T 15%, 10% F 5% 1 H00TE §E |

(ii) @12 HI T 6,000 T T 18%, 15% T 6% I i FHHATTG G2 | FHal I B A1
forepea et 2 | |

A shopkeeper gives two options to the buyer of the same coat,

(i) on coat’s price of ¥ 5,500, three consecutive discounts of 15%, 10% and 5%.

(ii) on coat’s price of ¥ 6,000, three consecutive discounts of 18%, 15% and 6%.
Which option will be beneficial for the buyer ?

ﬁﬁramﬂ&lazﬁ%%qqsﬁwmzs 4am@iw325ﬁwmw%|xaﬂt
y 1 HF F1d HIRIT |

Eo : | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Fmfl : | 20 15 10 x y
FEfill : 4 8 4 2x y

For the following two frequency distributions, the mean calculated for the first was
25.4 and that of the second was 32.5. Find the values of x and y.

Class : | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency I : 20 15 10 X y
Frequency II : 4 8 4 2x y
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qer-(1)

HrT-(2) :

Part-(1) :

Part-(2) :

A,B 3 C T wd I 31het HF: 6, 8 3 12 e # qu s wahd 7 1 Afg
3 f41 © a1y et 30 1 ) QU A W HS T 23,400 FATH @ 59
HATE ¥ C %1 fewan fpaan & 2

20 gftrera frerger Yehreial & O 1 50 Sfewa frense tehigial & O
¥ fpa agua # frern ifee @ifs afomft @ia & fruse tewiEta 40
wiererd & 5 ?

A, B and C each of them working alone can complete a job in 6, 8 and
12 days respectively. If all three of them work together to complete the
said job, they earn ¥ 23,400. Determine the share of C in their
earnings.

In what ratio should a 20% methyl alcohol solution be mixed with a

50% methyl alcohol so that the resulting solution has 40% methyl
alcohol ?

Section-2 / @VE -2

Ethics / AR

ffrs Rt & gro et Rfirer e 3 srfvard s wet 6t samen Hifv |

[STCHHT : 250 9155

~ Explain the essential moral values of civil service as described by different school

of thoughts. [Answer Limit : 250 words]

PCS MAINS-2016



38.

Pg. 9

frrferea s st araurigees afee qer sas 9 fr@ 7 wei w1 3w A -

@i, gfera soger w9 1 e yfer s, U YA GHedT aTefl STE ygedl @ | &)

AT I, Th SSHI AT Uh TSeh! 1 a0g A URIet § | 32 dehiel & wfiss Ryfeean

h T B FAIYT IThI 1S ST g 8 dehdll 2 | 1S 31 gferd Agter @ wrgeia

FH g qohler el age wehell | Tt 1 oot g8 vy < o @ o s 2w

2 | 3ah! I R 5 gl B wera Teh R P 3R et 9w guR T et | Erer

HUTEH <l AT 9ga 9 8 | I8 veet Freeht d@wre Sel Sike 7 a8 3k R

FEICgEMTR | _

W : AT WHEAT 6T Godieh Fl Tl ?

1. ol <t et SoTereRt o S =T e g Rradh aera wt

2. a1 g g hil WEEA HT =00 | '

3. Wﬁﬁ%ﬁaﬁaﬁmﬂrﬁqaﬁ%mﬁﬁamﬁmaﬁmﬁw
21

4. THEH B WHR H A4 &l 781 2 | S [T : 250 wise)

Study the following case carefully and answer the questions that follow :

Swati, a police officer in control room, reaches a scene of a bad accident. Two

young persons, a boy and a girl, are badly hurt. They need immediate first aid or

their injuries will prove fatal. No other police patrol or ambulance can reach the

site immediately. Swati has good paramedical training because of her background.

She assesses that the condition of the girl is such that the probability of her single

handed effort succeeding is slim. To whom should she attend first ? This is an
agonizing dilemma for her.

Question : How will you evaluate the problem ?

1. Swati should toss a coin and decide whom to help.

2. Swati should help the boy first. :

3. Swati should help the boy as a boy always has priority in Indian society.

4. There is no acceptable solution to the problem. [Answer Limit : 250 words]
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39. | F=ferRaa sertor =6t ArEarigEs iy au 3us A9 fora 7 WAl &1 I @i ¢

L A Al § SRR & S IE 6 3 dR-it e gt 6t Shfafin s s

ST HIfeTeh 7 TR | ST 1 % qehiehl Fgwres 3 gadl et &9 % forg ug wm R

@ 98 UG Wieh B T | 9 G 3 S e 5 saent a1 g3 tHete aeieh e

1 fean S @ Fewes Avse it e 3N | T R A @ 36 W 1 geret

oy fomam okt Twemrer <t St A W weE R | g 3 we e sE @ 3

Fofifrafin i vgré R Sy e ZRaRiA A A1 € | v ge=r & @ S0 wIg

Iz off FE1 Fit fofie Awege fdrper IRaRiS = Affent & wmrar s RvafemeE ? |

36 98 ¥t Saw o TaerTe 4 2215e % U $© HrRivensdt § wieor ot foran R | S@e

TS oft fortr foma & 3e e <t 5 SaehT @y St 7 2 o Ig 6 afe @7

R yg T @t 98 o g8 9o % 3u qREr @ S5 HEr Hi arEr e | 369

Ig 3R gl fob 36h IR GTRET % T W THATS Hee g foram s |

W : 7 AT 6 319 3 aut @ et & afig § o g & aeEeR 8 | A
G ) 1 FATE & ?

1. 1 G ! GeTE ot fob was fewent Y 31 @ 38 weR @1 iy wiake Sitaw 3§
AT ET R 7 G i et fefe e st wifi |

2. IATYeh! HATE 21T foh THEATE i AT LR A TEATT HET F11ET 3N HAN: I=WR
ITREITe T =R |

3. Fert i et wavm % argva aret, a<t oy ATt feet T 2eishe Y g e
=R St FaTigd & H" Uga T & 3R Iq THerTe ) wm Rrge & oo firem

& a1y fages fopan s =R |
4. 39! I TEAT STTRT Fifeh TRER & Al 3 0T arfehendt Y o1d 9T 41 T8
e | [ HT : 250 W]

Study the following case carefully and answer the questions that follow :

Suresh started a business from scratch, and ended up as substantial owner of a mid

sized engineering company. The position of technical director in the company fell

vacant when its incumbent resigned to take up another assignment. To the surprise of
the board, Suresh proposed that his young son Ramlal should be made a technical
director. One director openly expressed his opposition to the proposal and doubted

Ramlal’s credentials. Suresh replied that his son has studied engineering in Remote

Westbrook Technical University. In reply to the member’s question, he added that

Remote Westbrook Technical University is an accredited university in New Mexico.

Ramlal, he added also took training in some workshops near Detroit. When there was

further opposition, he pleaded that his health was poor and that he would like someone

from his family to take reins if he were to become too ill. Ramlal, he added, would be
elected a member on the strength of his shareholding.

Question : Assume that you have been the secretary of the company for many years

and have the ears of Suresh. What would be your advice to Suresh ?

1. You would advise Suresh that such opposition from independent Directors is

- routine in corporate life. Suresh should not change his position.

2. Your advice would be that Ramlal should start at the shop floor and then
gradually take up higher responsibility.

3. Company should appoint an elderly technocrat with management experience
who 1s nearing retirement and he should be appointed with specific mission to
groom Ramlal.

4. You should stay away because in family matters people do not pay heed to
reason. [Answer Limit : 250 words]
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